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QUESTION 1
Which statement is true for broadcast network traffic?
A. Broadcast is designed to enable optimized video transmission, since it tolerates network dropouts

B. Broadcast is not practical for network video transmission, since packets are transmitted to every device on the
network

C. Broadcast is a method for sending video to many recipients over the internet even though their bandwidths vary
D. Broadcast data packet length is longer than normal Ethernet packets, to accommodate a full video frame

Correct Answer: B

QUESTION 2
Which is true about P-iris?
A. The P-iris makes use of a novel p-shaped blade that reduces complexity and cost while maintaining image quality

B. In bright situations. P-iris limits the closing of the iris to avoid blurring caused by diffraction when the iris opening
becomes too small

C. The P-iris delivers the optimal depth of field by always using the smallest possible aperture for the available lightning
D. The P-iris makes use of a novel p-shaped blade that allows the iris to react to rapidly changing lighting conditions

Correct Answer: B

QUESTION 3

Ghost image is when

A. The lens is using too high f-stop value.
B. The shutter time is too long.

C. The gain is too high.

D. The frame rate is too low.

Correct Answer: B

QUESTION 4
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What is the main purpose of the Arctic Temperature Control functionality?
A. To protect the camera electronics

B. To protect the camera mechanics

C. To protect the camera lens

D. To protect the camera power

Correct Answer: B

QUESTION 5

Match each function to the correct video surveillance system component. Drag each gray box from the left column to the
matching blue box in the right column.

Network camera Exports video
Ethernet switch Connects twi_stad p.air with
fiber optic cabling

Video Management System IEEE 802.1X authenticator

DHCP server Compresses video data

Allocates |P addresses to
cameras

Media converter

Select and Place:
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Compresses video data
Aliocates IP addresses to

Correct Answer:
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